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Sarala, a student was able to do subtraction in maths at the age
of 6 years whereas Charan was able to do the same thing at the
age of 4 years. This is related to the following principle of
development

1. Growth and development is not uniform in all the
stages

2. Different developments are interdependent

3. There are individual differences in development

4. Development is a continuous process
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According to Erikson, the stage where people feel that they
have the ability to make decisions for themselves and have the
power to control them.

1. Play stage

2. Adolescence stage

3. Pre — Adult stage

4. Child stage
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The Psychologist who has given the list of milestones and
hazards during the developmental stages is

1. Havighurst’s

2. Skinner
3. Vygotsky
4, Bruner
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The age at which the first tooth usually forms / appears in a

baby is

1. 10 — 12 months
2. 12 — 18 months
3. 3 — 5 months

4. 6 — 8 months
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Match the following

i.  Early childhood

ii. Later childhood
iii. Infancy

iv. Adolescence
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Questioning & Learning
Exhibiting tenacity
Gang age
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Observing the behaviour of fishes in an aquarium

1. Natural observation

2. Controlled observation

3. Uncontrolled observation
4. Unstructured observation
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“Personality is a dynamic organization within the individual of
those psycho-physical systems that determine his unique
adjustment to his environment”. This was stated by

l. J.F. Brown

2. Cantor

3. Prince

4. G.W. Allport
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The proverb ‘The grapes that are unreachable are sour’ is an
example for

1. Regression

2 Rationalization

3. Projection

4. Displacement
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‘If a student secure good marks in science, he can secure good
marks in all subjects’ the intelligence theory that supports this
statement is

1 Unifactor theory

2 Two factor theory

3. Multi factor theory

4. Group factor theory
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10.

11.

The process of reasoning from specific to general is

1.
2.
3.
4.

Inductive Reasoning
Deductive Reasoning
Anological Reasoning

Moral Reasoning

(BBgE Bosorye 00D (B0 Ferdes AT I
DAHAOT IS

1.

Ll

eSS IDSS
DS IS
D ETRg IS
IOE IISS

Context in which children may not be ready to learn

1
2
3.
4

When teaching is mechanical
When teaching is done in divergent ways
When students realize the purpose of learning

Sufficient physical, mental maturity to learn
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13.

A student studied for his pleasure without expecting a reward
or to avoid punishment. The type of motivation is

1. Extrinsic Motivation
2. Intrinsic Motivation
3. Achievement Motivation
4. Creative Motivation
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‘Learning is the product of experience but not occurred due to
change caused by illness, fatigue or drugs’ is explained by

1. Gates
2 Hergan Han

3. Dececco

4, Kimble
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15.

The type of learning curve occurs when the number of trails is
increased performance in terms of right responses also
increases

1.
2.
3.
4.

Positively accelerated
Negatively accelerated
‘S’ Type

Typical
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One of the following is a secondary need

1.
2.
3.
4.

Sleep
Exercise
Water
Recognition
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The general understanding related to a person or a thing or

a situation is called

1.
2.
3.
4.

Intelligence
Concept
Perception

Memory
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This law of perception was not proposed by Gestaltists

1.

law of closure

2. law of proximity

3. law of exercise

4. Figure ground relationship
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18. ‘Deja Vu’ is a
1 Greek word
2 Latin word

3. German word

4

French word

R IO

1L A% B0
2. oS B0
3. &6&?\) Do
4. (R0 n&0

19.  The oldest theory of Transfer of learning
1 Theory of formal discipline
2. Theory of Ideals
3 Theory of Identical Element
4. Theory of Transposition
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20.

21.

22.

One of the following does not belong to cognitive domain

1.
2.
3.
4.

Analysis
Evaluation
Understanding

Receiving
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‘PIED’ states for

‘PIED’ e

1 Project Inclusive Education for the Divyang

2 Project In Education for the Deaf

3. Project Integrated Education for the Disabled

4 Project Integrated Evaluation for Divyang students

Meaning of the file format ‘.gif’
“gif 5 3”6&6’5_@go

1
2
3.
4

Google Interchange file
Google Instrument format
Graphic Instrument file

Graphic Interchange Format
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According to NEP — 2020 ‘Preparatory stage’ in education is
1. 3,4, 5 classes

2. 1, 2, 3 classes

3. 4,5, 6 classes

4. 6, 7, 8 classes

NEP - 2020 (35750 D55S° DI ES¥

1. 3, 4, 5 SoKSHeD
2 1, 2, 3 SOKS>D
3. 4,5, 6 SEKSO
4 6, 7, 8 SOKSen

The first National Educational policy formulated in India in
the year
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1 1964
2. 1968
3. 1976
4 1986

As per RTE — 2009 this chapter states the right of student to
get transfer certificate (TC) from school
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The approximate percentage of learning that students can

achieve through Lecture Method is
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1. 5%

2. 25%
3. 50%
4. 75%

This is a higher mental function as per Vygotsky

1. Comparing

2. Questioning

3. Observing

4. Analysis of social issues
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29.

‘Future learn’ is a/an
1 Cracker

2 Rubric

3 Multimedia software

4 Organisation for providing MOOC’s
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Mid - day meal scheme is currently being implemented in
schools of Andhra Pradesh in the name of the following
dignitary

1. Duvvuru Subbamma

2. Sarvepalli Radha Krishna

3. Abdul Kalam

4. Dokka Seethamma

308 SRS Sg8 DS (HuE0 oGRBIS FETed
;53&5"5:7;)25%5 DEEO 9508 WEKIGE08.

1. Cioéjzgdo maaz);ﬁo 3

néy:g)q CTER

20 Eero
Q

Lo

c§?°5°b ?oé;i)&



30.  Acting and dancing comes under these Skills.

1.
2.
3.
4.

Language Skills
Processing Skills
Physical Skills
Social Skills
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61.

62.

63.

64.

Identify the grammatically correct sentence.
1. She is beautiful then her.

2 She is beautiful than herself.

3. She is more beautiful than Gita.

4 She is beautiful than Gita.

Identify the correct verb form for the sentence:

Krish and Radha on their way to the airport.
1 is

2 are

3. have

4 was

Choose the term that refers to the study of celestial bodies:
1. Geology

2 Astronomy

3. Astrology

4 Geography

Choose the correct modal verb to express possibility:

1. can

2 must
3. might
4 should



65.

66.

67.

68.

Choose the correct capitalization for the start of a sentence:

1.

2.
3.
4

the dog is barking.
The dog is barking.
the Dog is barking.
The Dog is barking.

The first section of a biographical sketch is typically about:

1.

2
3.
4

Career and achievements
Personal life
Legacy

Introduction

Choose the sentence in the present perfect continuous tense.

1.

2.
3.
4

She has lived here for five years.
They are watching a movie.
He has been working on the project for hours.

I will finish my homework soon.

Choose the helping verb used in the future continuous tense.

1.

2.
3.
4

has
had

is

will be



69.

70.

71.

72.

“I enjoy reading novels.”

Identify the type of sentence:

1.

2.
3.
4

Imperative
Interrogative
Declarative

Exclamatory

She was tired from working all day.

Choose the correct compound sentence transformation of the
sentence above. (imaginary sentence)

1.

She was tired from working all day, and she went to
bed early.

She was tired from working all day, as she was asleep.

She was tired from working all day, because she was
exhausted.

She was tired from working all day, however, she
stayed awake.

Choose the sentence that contains a relative clause:

1. She laughed loudly.

2. He saw the movie.

3. The man who lives next door is very friendly.

4 They went to the beach.

The new policy was announced last week; , it has

already made a significant impact.

Choose the option that fits the blank.

1.

2.
3.
4

nevertheless
therefore
despite

similarly
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75.

76.

Choose the correct sequence of the words in which they occur
in a dictionary.

1. Shaky

il. Space

1ii. Shallow
1v. Small

1. 1, iii, 1v, il
2. 1, i1, 1ii, iv
3. i, 1, 1v, ii
4. 1v, 1, i, il

Choose the correct spelling of the word.

1. embarasment

2 embarrasment
3. embarassmant
4 embarrassment

Select the example where the indefinite article is used in the
sense of a ‘certain’

1. A lion is fierce.

2 A Mr. Smith is online.

3. An uncle of yours asked about you.
4 A book was taken by the boy.

She finished the race  her competitors.
Choose the correct preposition that fits the blank.
1. in back of

2. in front of
3. ahead of
4

contrary to
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78.

79.

“How can you possibly imagine he’s a crook? He looks so
ordinary!”

Choose the synonym that means ‘crook’.

1. thief

2 lawman

3. innocent
4 gentleman

A headmaster once told his father that what Einstein chose as a
profession wouldn’t matter, because “he’ll never make a
success at anything.”

Choose the antonym of the word “success”.

1. achievement

2 failure

3. accomplishment
4 triumph

Choose the indirect speech of the following sentence:
He said to me, “What are you doing?”

1. He asked me what am I doing.

2 He asked me what I am doing.

3. He asked me what I was doing.
4

He asked me what was I doing.
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81.

82.

Despite the challenges, she decided to
and pursue them with determination.

Choose the phrasal verb that fits the blank.

1.
2.
3.
4
Identify the plural noun from the following:
1.

2.
3.
4

hold on to
look out for
turn down

come up with

Physics
Politics
Gymnastics

Police

her dreams

Choose the sentence in which the interjection expresses
excitement.

1.

2.
3.
4

Oh no! I forgot my homework.
Ouch! That’s a big question.
Yay! We’re going on vacation.
Hey! Watch out.
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Read the following passage carefully.

India’s education system is a blend of ancient wisdom and
modern knowledge. The ancient universities of Nalanda and
Takshashila were renowned centers of learning. Today,
institutions like the Indian Institutes of Technology (IITs) and
Indian Institutes of Management (IIMs) continue to uphold
high standards of education. India’s emphasis on education
drives innovation and research across various fields.

The ancient universities of Nalanda and Takshasila were
known for their

Choose the option that fits the blank.

1. sports facilities

2 medical research

3. centers of learning
4 architectural design

Read the following passage carefully.

India’s education system is a blend of ancient wisdom and
modern knowledge. The ancient universities of Nalanda and
Takshashila were renowned centers of learning. Today,
institutions like the Indian Institutes of Technology (IITs) and
Indian Institutes of Management (IIMs) continue to uphold
high standards of education. India’s emphasis on education
drives innovation and research across various fields.

Identify the modern institutions mentioned in the passage:

1. Nalanda university and Takshashila university

2 Harvard university and MIT

3. Oxford university and Cambridge university

4 Indian Institute of Technology (IITs) and Indian

Institutes of Management (IIMs)
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87.

88.

Choose the best option that fits the blank.

Oral communication involves
1.

2.
3.
4

Identify the activity that promotes comprehension and content

writing
reading
speaking

composition

mastery through active engagement with the test.

1.

2.
3.
4

Reflective reading
Mechanical reading
Loud reading

Combined reading

Identify the advantage of the Direct Method.

1.

2.
3.
4

Focus on literature
Natural learning progression
Clarity in meanings

Controlled vocabulary

Identify an advantage of micro-teaching:

1.

2.
3.
4

Focuses on multiple skills at once
Provides immediate and constructive feedback.
Uses 2 hour periods

Required no feedback devices

and understanding.
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English is the most popular language on the
Choose the best option that fits the blank.

1.

2.
3.
4

television
internet
radio

newspapers

Identify a method to enhance the ability to speak English.

1.

2.
3.
4

Writing essays
Reading silently
Translating texts

Using greetings, dialogues and role plays
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Anand bought a watch for ¥682. This amount includes
10%Tax on the marked price. Then the marked price is
(in Rs.)

e3506 2.8 5D 6828 ST, oS’ (BEOS Iup Ko
10%:5:53) 502 &08. ©ond (PEeS3e (Erraned’)

1 600
2. 610
3. 620
4 630

The area of Trapezium Shaped field is 240 m*. The distance
between two parallel sides is 15m and the length of one of the
parallel sides is 20m. Then the length of the other parallel side
is (in meters)

(B9800 e5°508° &) a8 Feo JTego 240 5.0
B0 VITOBY 4HeEre F6g Ko 15 $o805% 2.8
DIOSY thz0 Bk FEPH 20. @SS BoES

D0 2Hzo P&y (.08°)

1. 5
2. 35
3. 12
4. 300

If £Z4 and ZC are opposite angles in a parallelogram ABCD
then the statement that always true is

OSFOSY SSoSymo ABCDS” L4, LC o JSBE
538 1808 PISTe8” JPET RECDHIO

. ZA-ZC=90°

2. LA+ ZLC=180°

3. LA+ £C=360°

4. LA-ZLC=0°
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95.

96.

|:9x2y2 3z- 24)] +[27xp(z=8)] =

l. x(y+2)
2. vz
3. Xz
4. xy

The product of a non - zero whole number and its successor is
always

1. an even number

2 an odd number

3. a prime number

4 a composite number

%5°3§e§6 JPTOES0 So0Aw T HBHESHD By,
0200 Q@Zao))c‘io
[on] ™

1. o8 68“60'@5

2. e Bdoyps
3. e Q.’)Q"ééo%
4.

2.8 DOINES0g

When a die is thrown, the probability of getting a number
which is a multiple of both 2 and 3 is

28 JAED GBONVTPE> SN 20§ 2 HOABW 3 © Boéodd
5083230 P3PS éozr:égé

l. 1
2 2
3
3. =
6
4. 0



97.

98.

99.

100.

The smallest number which must be added to 70169305 so as
to obtain a sum which is divisible by 11

113 2rR0SE00ES 701693055 E03500:S 5 Bompg

1.
2.
3.
4.

3

4
5
6

The difference in the measures of a pair of complementary
angles is 24-. Then the angles are

2.8 3¢5 Jro¥ Sero Todges’ SO0 24+, 00 &8 SeTeo

1.

el

30-, 54-
78-, 102-
33., 57
24., 48

The median of first 5 composite numbers is
A8 5 DOdwnE HoPge EHBIN

1
2.
3.
4

5

6
7
8

The volume of a cube with side 11cm is (in cm?)

11 0., ZoBOM Ko 50 Bow), WSHOSTE0
(30.200.2.05%)

1
2.
3.
4

121
1331
12321
11



101.

102.

103.

104.

Which of the following numbers is a prime number?
808 FAS° DB (HEeS Howg?

1. 81
2. 87
3. 91
4, 97
(4_3)2 +27%=
1. 16
2. 1
3. 64
5, L
64

If 23% of 40 is x then 40% of 23 is
408° 233050 x @ond 23S° 40a°¢s50

1. X
2. 1L
X
3. Ox
4. =
9

There are 40 students in a class. Number of girls are 10 more
than the number of boys. Then the ratio of the number of girls
to number of the boys is

2.5 SSKAS” 40 5008 IT§Res 0. wrdSe Vopy ered

dogg E0&3 10 9550, 90nR 27dEL 0P 2end BOPS
Ko Qg

1. 1:4
2. 3:5
3. 5:3
4. 4:1



105.

106.

107.

A toy was bought for ¥72 and sold at ¥80. The profit percent is
V25 FH 0 DS 570y W08 00120808, oo4iaE0 J05?

1. 11l
9

2. 10
8
4. 10l
9

The Area of a Rhombus whose diagonals are of
lengths 24cm and 38cm is (in cm?)

28 07020 @YY SYIne FPEIHL0 2420.0, 380.0
@O TR FTeg0 (3.20.0.087)

1 345
2. 456
3. 567
4 912

%5000 is invested at 10% simple interest rate p.a. Interest at the
end of 3 years is (in Rs.)

00358Y0°08 10% &t 36 Bend® B0 Denerd ED
3 BSOSO VG IV 5& (ErRraHes’)

1 1500
2 150
3. 500
4 1000



108. The order of Rotational symmetry of a Regular Hexagon is
28 (E DENB T, (@ RS DOSe0

S N »n B~

1.
2.
3.
4.

109. An electric pole of 18m high casts a shadow of 24m. Under
similar condition the height of a Building that casts a shadow
of length 18m is (in meters)

180 KO 2.8 e YOO 24, FED Ko B
AR08, &8 VOBHYS” 2.8 P5F0 18, FEY Ko IS
DY, €3 BSS0 ey (Wesged’)

1 12
2. 13.5
3. 12.5
4 13

110. Number of leap years between 1887 and 1897 are ....
1887 58050 1897 Socs§ie & DosEoTe oy

1 3
2. 10
3. 4
4 11



111. Number of zeros in 100 crore, 100 million, 100 lakh and 10
Billion respectively

100 §%¢3, 100 20855, 100 ©Feo 850 10 HOCHSS”
0T TN V0P SEDX

1 9,8,7,10
2 7,8,9,11
3. 9,7,10,8
4 11,7,8,9

112. A=x*4+2x-3,B=2x>—x+4 and C=x’+3x—2then the
value of A—B+C is
A=x"42x-3,B=2x"—x+4 508050 C=x"+3x-2
©ond 4—B+C S8 Joos

1. 6x+9

2. 2x° —6x+9
3. 6x—-9

4 —-2x* —6x—9

113.  For any polyhedron Euler’s formula is
D TSNP HOEINOZT esaned Wor|go
1 E+F-V=2
2 F-E-V=2
3. E-F+V=2
4 F+V-E=2



114.

115.

The mode of 3, 7, 5, 3, 7, 5, p is 7 then the value of p is
8&ro¥S0 3,7, 5, 3,7, 5, p Book), aS0eEIn 7 e90008
P Q03

1 3

2. 5

3. 7

4 8

The problems faced by the students in ‘Problem solving
method’

a. Unable to do the calculations properly
b. Defect in selecting a proper method
C. Students loss their self-Discipline

d. Unable to analyse the problem properly

0B0Rg HOIY Y HEB'S” Aen 7D HIovge
a.  Keadeo B0 BandsFsco

b. X3S TR oSS0 %o

. GRS’ A (S508Ees SKeso

d. RSR5R DO ﬁgixowwmo

1. a,b,c
2. b, c,d
3. a,b,d
4. a,c,d



116.

117.

. 1 )
“Hanshita, a 8" class student proved 107 = 100 using the

1 .
formula ™ = —(a #0).” This statement belongs to
a

1. Inductivism

2. Deductivism

3. Generalisation

4. Logical Thinking

o

QS ©F 28 85 SOKD ITGED a7 = ——(a#0) & oy
a

EIRrA0Y 1072 = L e QTP80SE0 93O
100 @

€3X33085 T30

!—.\

2. DS IO
3. orRsseo
4. o8 a8

‘Explaining Mathematical Methods’ related to

1. Problem solving

2. Connection

3. Communication

4. Resoning and Proof

‘Kedes ‘JDCQSéJeJSSJ DSB0IE0’ I

1. 26;5331’5 JPE3S

2 VOGS0

3. wrssEsve

4 SOSEre) BOWEO - AEITZHEILD WOVEO



118.

Observe the following

1« 1=1

11« 11=121

111« 111« 111 =12321
1111« 1111« 1111 =1234321

The above model belongs to

1. Recreational value
2. Readiness value
3. Cultural value

4. Disciplinary value
808 A HBBOOSOE.

1« 1=1
11« 11 =121
111« 111« 111 =12321

1111« 1111« 1111 = 1234321
@085 (08 FIS° D Jews

2
1. DS dews

2 REHOT Jewss
3. ﬁ*’ob@e‘% RISON
4

E5085Es e



119. Total Number of Cuboid - shaped rods in OBB -
Mathematics kit
OBB - Ae3¢s HE356° G0a Ingo WIS Ty 560 vopg
l. 51
2 55
3. 10
4 100

120. Advantages of objective type tests

a. Conducting such exams is easy

b. Speed and style of writing can’t influence
c. enhance language ability

d. It takes less time to write the answers

DT AR (P (PETeTen

2. 38 905w e BOY

b. (3&S° IKo, 3O Parso s DEEUD oK.
c. P IO DHHE08

d. 2320 (TOHEEIS B 5 DHA0 HDEB08

1. a,b,d
2. b, c,d
3. a,c,d
4. b,c,a



121. The motion of a needle in a sewing machine is

1. Rectilinear motion only

2. Periodic motion only

3. Circular motion only

4. Both periodic and circular motions

£¢000(E) 00 BoE), WOS0
L BHOH Soso S|
33555 SO[0 ISR
[E55508 SO0 S|

Ll

3395 SH0A0 (Woer PoTrew VoL

122. In scientific terminology, these are commonly called as
“fluids”

Liquids and gases
Solids and liquids

1

2

3. Solids and gases

4 Liquids only

TR0 2R, DAY FTTe0M “PIToR” © G0,

1 (B9 D0 HBAS A STPTren
WS VTR0 HBA (BS DEPTPe
@ @

S éw%m 08330 A3 Zaw%en

L

(&35 DTeoren SR
()]



123.

124.

The non-essential requirement for producing fire is

l. Oxygen

2. Fuel

3. Nitrogen

4. Temperature

H06D &S)Y TN B©IHT0 A Lo

1. eaé(\)&s
2 08350
3. é@%g
4 é;‘gfg@é

Match the fibres in SET-A with their uses in SET-B

SET-A
PET
Nylon
Rayon

S aw

Polyester

o

S.

SET-B
Carpets
Dresses
Bottles

Parachute

SET-A §°9 oroross SET- B §°9 508 &9&rKos®

REENGT0E.
SET-A
2.3.83
3o
BT
FONE
(M)
A-R, B-S, C-Q, D-P
A-S, BR, C-P, D-Q
A-S, BR, C-Q, D-P
AR, B-S, C-P, D-Q

o 0w »

P b=

w &0 T

SET-B
98{35@3

o0
e

JeoesSTeS



125. This is not a greenhouse gas

1.

B wn

Water vapour
Carbon dioxide
Nitrogen
Methane

38 5°0¢8 ?ig):? AN o0

1.
2.
3.

e 38
SYNEATF)E
265
LB



126. The animals that have sharp cutting and strong grinding teeth are

A. Tiger

B. Zebra

C. Dog

D. Horse

1. A and C
2. Band D
3. Aand D
4. B and C
VRS 58T Sodren HBSH UPS ST Sogren Ko
23000

A. O

B. dr

C. §J§ZJ_

D Ko

1. A 38350 C

2. B S08a0 D
3. A 3850 D
4. B 308 C



127. The irrigation method used to watering for lawns and coffee
plantation is

1. Sprinkler method

2. Drip irrigation method
3. Chain pump method
4. Dhekli method

HY)SOH DO 525 $080% DK ©0B0SIEIE) EXBFROD
HA>H S IoeSo

1. eONY ‘JDCQSQ?
DocH "50655 DS
[on]
<)) ‘O/Dg@

A~ W N
-3
4
e
(@)

AS°B0 DB
(en}

128. Identify the correct statement about pulmonary vein

1. It carries deoxygenated blood to heart

It carries oxygenated blood to lungs

It carries deoxygenated blood to lungs

Sl

It carries oxygenated blood to heart
DD TK 50200802 HOES 70

_ &

R TS ITR) HOBH B
5302 VIS TTRY) EIVBBBO T
e30ad s 552R) Esd0SSe B

Ll

5302 VIS TTRY H0BE TE)



129. The plant that shows vegetative propagation through stolon is

130.

1.

By A W

RN

Strawberry
Ginger
Potato

Colacasia

oS oo FDA%H TR, WY 0K,

e
QO
200N HEN0D
g0

Find the correct statement about ecological pyramid

1.

2.
3.
4.

Carnivores are at the base of pyramid

Energy trapping is high at the top of pyramid
No producers at the top of the pyramid

Carnivores produce energy in pyramid

BT55er DEWED ©020H0N VOGS TEGO

1.

~wN

SO0 BEWE HSrKoS” Goeron
DEWE BpTerKoS” %) 3H K0S &0
2EWE BT K0S &FBBO &OEI
SPOFIHe BEWES” ¥ e Sow



131.

132.

Choose the correct set of person and the tools used by them

1. Farmer-Pickaxe, Barber-Brush, Tailor-Bobbins
2. Farmer-Brush, Barber-Trowel, Tailor-Pickaxe
3. Farmer-Trowel, Barber-Pickaxe, Tailor-Brush
4, Farmer-Bobbins, Barber-Pickaxe, Tailor-Trowel

558 S00A5 T EDTPAOT DASNE) Book), HBEoS
DRI K800k,

L B0-28es) HE0EH-2F $5§-2D])
D@3, $THE-a, $5§-2Fesk)
Behr-a7d, $BLE-0EeE), $§-1@%

Ll

Beh-2rd]), HDE-25eE), $5§-v

To avoid traffic disturbances and accidents, everyone must
follow

1. Tips on the Whatsapp
2. Google map
3. Traffic rules
4. Traffic updates on FM

(E°0F @IS, (PITTrON ITB0EEIS (B 28 S
V0 0WIOII

1. sf’wfﬁé@ DeT e

2. K306 :,55055
3. (E2E dasosren
4. FMS® (grdE eSaesen



133. The headquarters of Alluri Sita Rama Raju district is

1. Araku

2. Parvathipuram
3. Paderu

4. Narsipatnam

5 “
VOB VST BeT (HE°S SolEo

1. SletsS

2 b%@@do
3. JE®

4 S5OyveN0

134.  The River Penna does not flow through the following district

of Andhra Pradesh
1. Nandyal

2. Y SR Kadapa
3. Satya Sai

4. SPSR Nellore
800 IS° eo|PRTBIS” IO (FS0SY Be

1. :60&3"50
2. YSR &%
3. éeﬁséﬁoao

4. SPSR Jezdo



135.

136.

Identify the correct statements in connection with Latitudes

a.

Latitudes are farthest at the Equator and meet at the
poles

Latitudes never meet with each other
Latitudes are known as Meridians

Latitudes are invisible horizontal lines that run parallel
to the Equator

OFTOTOL HOOROW BJI TS0 K050,

a.

a

el A

VFOTLD 25?35365833 S Srsone &od SN
3¢ Seoo.

SFOTL WETITED IS 5059
VFOPOD) 53@555383303 099 90835,
WFOT 2;55";53&558a>§> JSToSSone &0 @CSQ)%SE%QJOJ

a, C
b,d
b, c
a, d

The type of natural vegetation that Kerala State mainly
consists of

1.
2.
3.
4.

Montane forest
Mangrove forest
Tropical evergreen forest

Tropical thorn forest

S5 oGS HErSon &) S S)E H0eS

1.

W N

DS (FosD 05D

D& 5

ERHOLO DES TOS 9D
SO S @i



137.

138.

The lowest voter turnout in the Lok sabha elections was
recorded in this year.

55 D0581508" HOAS &5 IYPsOS’ ©d SH S Lok
FEO IrGo0.

1 1951 - 52
2 1967
3. 1971
4 1977

One of the following was not a freedom fighter of Andhra
Pradesh

l. Ponaka Kanakamma

2. Duvvuri Subbamma

3. Konda Venkatappayya

4. Sarojini Naidu

808 708" eoFRTEE oS JqSolgy HIEETe

1. DPIE SISSA

2. CSJ@':SS :63232);53&
3. §Poze Bo§éab°)oﬁo§
4. DE°RD A5



139. Identify the planets that do not have the satellites in the
following

1. Mercury - Mars

2. Venus - Uranus

3. Mercury - Venus

4. Uranus - Mars

808 TAS° &RISten B (Ko Kr80508.

1. 200G - WONCEEIED
2. HEE - SBeE

3. 206508 - HEE

4. SBIEWE - YONPTEIED

140. The dynasty of Delhi Sultanate that ruled for the longest
period was

1. Slave dynasty
2. Tughlaq dynasty

W

Lodi dynasty

AN

. Khilji dynasty
68 WS TaSoTed” eSids S0 HOIOoNSH

™

1. 200 S0F0

2. SHXE So¥o
™

3. S°& Sov¥o

4. 99 so¥o



141. This is a physical input for Agriculture
1. Soil
2. Machinery
3. Chemicals
4. Storage
38 ;5535©‘>ojs°i)§ B eperss

1. Jo

2. ado(&een

3. B AT

4. Doy (HEHBSE0)

142. The great bath of the Indus valley civilization was found in

this city
1. Lothal
2. Harappa

3. Dholavira
4. Mohenjodaro
20857°SS5 TKOES P00 oD D) IS s SKS0S®

2A0EVE0H.

1. &

2. ey

3. Sodo

4. JooS s



143.

144.

Marco Polo praised this Pandya king’s administration

1.
2.
3.
4.

Bhillama
Singhana
Thailapa
Kulasekhara

Ba FOLLOvEr DOFOSK S8 FS” (HFovoTE

1.

L

The first Health Minister of Independent India was

1.
2.
3.
4.

John Mathai
Jagjivan Ram
Baldev Singh

Raj Kumari Amrit Kaur

RSO arEBBY I &8 KTersoo@

1.

L

PRSI0

SASSo°0

2BSVOR

TEDITY WINSTE



145.

146.

“Knowledge Acquisition is always interdependent. Children
observe better than adults. Understands well. We must
recognize their ability in the creation of knowledge” said by

1. Piaget

2 Cunningham

3. Spears

4 Prof. Yashpal Sharma

IS VIVTES JYPET HTH)TBS0M G0oen0d. DY K08
DO e DOBOTL. e PP, apaeR) DposEod”
T DY) PG, PGS 030 KH80rd” @) BOYSO.

L a3

2. EQOASD

3. dawd)

4. &0 IS ¥y

Making a final conclusion involving a value-based decision is
called

1. Test
2. Examination
3. Evaluation

4. Assignment

S 3PS AYALOS® ETES @0l IR0 QKR g
90ETP.

1. Q8A

2 Zaég

3 ;535°e7>§o§5o
4. &PI10ES



147.

148.

The cardboard or a wooden board that has precisely spaced
holes which is used as a teaching learning material is

1. Hook and loop board

N

Peg board

3. White board

4. Magnetic board

S B BY, S WE NS S80S oenosd
S D850

L 508 50005 erd 5

2. PREQ
3. 355
4. @008 5

“A project is a wholehearted purposeful activity proceeding in
a social environment” is defined by

1. Kilpatrick

2. Stevenson
3. Billard
4. Binning and Binning

“FoR0s DBV SYSC5 YEIEONR, GBH SOy
FITR 2.8 TEEoD (B & AKDoDSE.
1L &S>EE

2. TSR
3. Db
[qp v}
4. BIoK 58050 BIoK



149.

150.

Identify the guiding principles followed in the designing of
Social Science textbooks

a. An inclusive method

b. Continuous and Comprehensive Evaluation

C. Connecting the curriculum to real life experiences
e. Lack of connection with other subjects

FOWET(Y FIFIRTO dr:ﬁe;o)mf SESSCEIMISTaeS
Jo(@Posy K080506.

a. 261))&@95 APPSO

b. QBOSE Dol So7erg08S0

C. ASERIS ODYTOLH PTLOTOL OWVOGTSO
d 388 385e8" @pomonsPSEo

1. a,c,d
2. a,b,c
3. b, c,d
4. a,b,c,d

This aspect does not come under the Transdisciplinary
Approach

1. Using technology

2. Deep study between different subjects
3. Facilitating student research

4. Separation of various subjects.
S 35 &0 ($088 oo wo¥o

1. P OEHEES &HRBrR0HESE0

2. 226 0gfe He5 8°BS eganso
3. Jomghe HOFESH oo $9)osEo
4. 225 355 3t BavEo



